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0000688459




R04 |R05 [R06 [RO7 [RO8

A02-001 v=51,000m3 LI 110
2.omC )

A02-002 L=67m LI 9
(3.mC )

A02-003 L=280m LI 250
-3.5mC )

A02-004 L=50m LI 249
« )

A02-005 L=530m LI 100
C )

A02-006 L=400m LI 81
C )

0000688459




R04 |R05 [R06 [RO7 [RO8

A02-007 L=200m m | m . 432
5.5mC )
A02-008 L=170m m | m . 400
(-10.0my( )
A02-009 L=100m m | m . 40
(-10.0my(C )
A02-010 L=3,650m m | m . 180
C )
A02-011 V=4,500m3 m | m . 70
2.0m( )
A02-012 V=6,500m3 m | m . 90
2.0m( )

0000688459




R04 |R05 [R06 [RO7 [RO8

A02-013 N=1 LI 60
« )
A02-014 v=98,000m3 LI 193
-5.5mC )
A02-015 L=42m LI 75
« )
A02-016 L=1,100m LI 45
C )
A02-017 L=2,400m LI 50
)
A02-018 V=65,000m3 LI 400
(-5.5mC )

0000688459




R04 |R05 [R06 [RO7 [RO8

A02-019 L=180m | m = 20
¢5.5m(C )

A02-020 L=300 | m = 27

A02-021 L=160 | m = 54
7.5 C )

A02-022 L=141m | m = 300
(-2.0m)

A02-023 L=20m | m = 150

A02-024 L=240 u 30

0000688459




R04 |R05 [R06 [RO7 [RO8

A02-025 V=8,000n3 . 60

£02-026 L=105 . 40
[ L[] s8] |
| 1] 5| |

0000688459




RO4 RO5 RO6
@ 257 178 104

() 0 0 0

(c=a+b) 257 178 104
(d) 0 196 97

) 61 259 155

) 196 115 46

@ 122 20 34

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 47.47 5.34 16.91
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